
 Quiz 41   

SBU 2020                                                                    Lesson 41 (quiz)   

1) You open 1. 

 A762  What is your rebid if partner responds  a)   1 _____________ 

 Q9 

 KJ843      b) 1 _____________ 

 K5 

       c) 1NT _____________ 

 

2) You open 1 

 6  What is your rebid if partner responds  a)   1NT _____________ 

 AQJ106 

 542       b) 1 _____________ 

 AKQ9 

       c) 2 _____________ 

 

3) You open 1 

 K8  What is your rebid if partner responds  a)   1 _____________ 

 AQ65 

 74       b) 1 _____________ 

 AJ1043 

       c) 1NT _____________ 

 

4) You open 1 

 AK82 What is your rebid if partner responds  a)   1NT _____________ 

 AJ1043 

 4       b) 1 _____________ 

 AQ3 

       c) 2 _____________ 

 

5) You respond 2 to partner’s opening bid of 1. 

 72  What now if partner rebids  a)   2 _____________ 

 K64 

 KQJ95      b) 3 _____________ 

 J53 

 

 

6) Partner opens 1 and you respond 1. 

 QJ1075 What now if partner rebids  a)   2 _____________ 

 K104 

 83       b) 2 _____________ 

 AJ10 
 


